$$\begin{array}{l}
33 \text{ A-[} - \infty, \times] = \{-\infty\} \ \text{V} (-\infty, \times]. \}. \\
0 (A) = 0 (B). \\
Be B = > Be o (A) \\
AeA = > Aeo(B) \\
\varphi(x) = \frac{x}{1-1x}. \\
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty$$

$$\begin{array}{l}
\varphi(1) = \infty \\
\varphi(1) = \infty
\end{array}$$

$$|N = \Omega.$$

$$|P = \lambda p, \lambda; \gamma, j \in |N \rangle. - P \text{ System. } M = P.$$

$$|P = \lambda p, \lambda; \gamma, k \in |P \rangle.$$

$$|P = \lambda p, \lambda; \gamma, k \in |P \rangle.$$

$$|P = \lambda p, \lambda; \gamma, k \in |P \rangle.$$